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VI Semester B.Com. Examination, April/May 2012
(Semester Scheme)
COMMERCE (Elective Paper — 3(b))
Corporate Financial Policy

Time: 3 Houré Max. Marks : 90

Instruction : Answers should be written completely either in English or in
Kannada.

SECTION-A
Answer any ten of the following questions. Each sub question carries two marks.
(10x2=20)

1. a) What is Financial Policy ?

b) What do mean by Tender Offer ?

c) State any two reasons for merger of Companies.

d) Give the meaning of Absorption.

e) Define Capitalisation.

f) List the methods of valuation of firm.

g) What do you mean by Internal financing ?

h) What is meant by competitive advantage ?

i) Mention any two functions of a Finance manager.

j) Distinguish between Equity shares and Debentures.

k) What is Sweat equity ?

l) Give the formula for P/E ratio.
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SECTION-B 3

Answerany five of the following questions. Each question carriesfivemarks.  (5x5=25)

2. Briefly explain as to how the wealth maximisation objective of business finance
IS superior to the objective of profit maximisation.

... Comment on debentures as a source of finance.
. Describe in brief the various forms of merger.
. Explain the various sources of Internal financing.

. Distinguish between Economic and business Environment.

~N OO O B oW

. XYZ Ltd. is being acquired by ABC Ltd., on share exchange basis. The relevant
data for the two companies are as follows.
Particulars ABC Ltd. XYZ Ltd.
No. of shares 3,00,000 2,00,000
EAT (Rs.) 15,00,000 6,00,000
EPS (Rs.) 5 3
P/E ratio 16 8

You are required to determine :
i) Pre merger market value per share.

ii) The maximum share exchange ratio that company ABC should offer without
dilution of EPS.

8. Write a note on financial policy and decision making.

9. PCo. has short listed QCo. as a possible take over. Following information is
available about the market value of these companies.

P.Co. Q.Co.
No. of equity shares 80,000 20,000
MKT price per share N0 25
Total Market value 72,00,000 5,00,000

PCo. decides to pay 10,00,000 cash to Q.Co. Find out the cost to P.Co. in
following circumstances :

a) MKT price does not anticipate the merger and
b) The market price includes a speculation element of 5/-Rs. per share.

I
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SECTION-C

Answer any three of the following. Each questions carriesfifteen marks.  (3x15=45)
10. Explain the interface of corporate financial, policy and other managerial functions:.
11. What is corporate financing ? Explain the different sources of corporate financing.
12. Explain the various factors which influence in formulating a financial policy. -

13. Shakthi Ltd. is taking over Moon Ltd. as per the understanding between managements
of the two companies share holders of Moon Ltd. would receive 0.7 shares of Shakthi
Ltd. for each share held by them. You are required to calculate :

1) Premium paid by Shakthi Ltd. to the share holders of Moon Ltd.

2) No. of shares after merger

3) Combined Earnings per share

4) Combined profit/Earnings Ratio

5) MKT value per share and by total market capitalisation after the merger.

The relevant data for the two companies are as follows.

Particulars Shakthi Ltd. Moon Lid.
Net Sales (Rs.) 80,00,000 30,00,000
Profit after tax (Rs.) 16,00,000 4,00,000
No. of shares 3,20,000 1,00,000
Eps (Rs.) 5 4
Market price per share 30 20
P/E ratio 6 5

Ignoring the economies of scale and the operating synergy.
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14. S Ltd. wants to take over R Ltd. and the financial details of both the companies

are as follows.

Particulars

EQ shares of Rs. 10/- each
Preference share capital
Share premium

Profit and loss A /c

10% Debentures

Total liabilities

Fixed Assets

Current Assets

Total Assets

Profit after tax and pref dividend

MKT price per share

S Ltd.
6,00,000

1,20,000

2,28,000
90,000
10,38,000
7,00,000
3,38,000
10,38,000
1,44,000

42

R Ltd.

3,00,000

12,000
24,000
30,000

3,66,000

2,00,000

1,66,000

3,66,000
90,000

35

You are required to determine the share exchange ratio to be offered to the share

holders of R Ltd. based on :
i) Net Assets Value
ii) Earnings per share

iii) Market price

Which should be preferred from the point view of S Ltd ?
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